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Section : English

Q.1 Select the most appropriate ANTONYM of the given word.

Defer
Ans X 1.Delay

#< 2. Prolong
«" 3. Advance
25 4. Waive
Question Type : MCQ
Question ID : 387868514
Option 1 ID : 3878682014
Option 2 ID : 3878682013
Option 3 ID : 3878682015
Option 4 ID : 3878682016
Status : Answered
Chosen Option : 3
Q.2 Select the most appropriate meaning of the given idiom.
Carrot and stick
Ans  # 1. Reward and punishment
#< 2. Good and evil
25 3. Loss and gain
25 4. Rise and fall
Question Type : MCQ
Question ID : 387868516
Option 1 ID : 3878682022
Option 2 ID : 3878682021
Option 31D : 3878682023
Option 4 ID : 3878682024
Status : Answered

Chosen Option :

1





Admin
Stamp


Q.3 Select the most appropriate option to fill in the blank.

We gave up the project because we had
Ans o 1. little

hope of its success.

X 2. afew
/< 3. alittle
5 4. few
Question Type : MCQ
Question ID : 387868511
Option 1 1D : 3878682002
Option 2 ID : 3878682003
Option 3 ID : 3878682001
Option 4 ID : 3878682004
Status : Answered
Chosen Option : 3
Q.4 Select the most appropriate synonym of the given word.
Incessant
Ans & 1. Continuous
#< 2. Halting
< 3. Occasional
< 4. Merciful
Question Type : MCQ
Question ID : 387868515
Option 11D : 3878682017
Option 2 ID : 3878682018
Option 3 1D : 3878682020
Option 4 ID : 3878682019
Status : Answered
Chosen Option : 1
Q.5 Select the most appropriate option to fill in the blank.
He across the river even though the current was very swift.
Ans o 1.swam
25 2. had swim
< 3. swum
#< 4. would have swam
Question Type : MCQ
Question ID : 387868513
Option 11D : 3878682010
Option 2 ID : 3878682011
Option 3 1D : 3878682009
Option 4 ID : 3878682012
Status : Answered
Chosen Option : 1




Q.6 Select the most appropriate option to fill in the blank.

1 will say his face what I think of his ideas.
Ans X 1.by
X 2.0n
25 3. at
o 4.10
Question Type : MCQ
Question ID : 387868512
Option 11D : 3878682008
Option 2 ID : 3878682005
Option 3 1D : 3878682006
Option 4 ID : 3878682007
Status : Answered
Chosen Option : 2
Q.7 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
A. Both his parents were Music Hall artists, who separated when Charlie was very young.
B. Sometimes, Chaplin had to sleep on the streets and forage for food in the garbage.
C. His childhood was very sad, for his mother never earned enough to look after Charlie and
his older brother, Sydney.
D. Life wasn't always a laugh for Charles Spencer Chaplin.
Ans X 1.CABD
2< 2.BACD
«” 3. DACB
#5 4.CBDA
Question Type : MCQ
Question ID : 387868517
Option 1 ID : 3878682025
Option 2 ID : 3878682028
Option 3 ID : 3878682027
Option 4 ID : 3878682026
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

Tom Sawyer found Monday morning miserable. He always found it so because it began
another week’s slow suffering in school. Tom lay thinking. Presently it occurred to him that he
wished he was sick; then he could stay home from school. Here was a vague possibility. But
no ailment was found. Suddenly, he discovered something. One of his upper front teeth was
loose. This was lucky ; he was about to begin to groan, when it occurred to him that his aunt
would pull it out, and that would hurt. So, he thought he would hold the tooth in reserve for the
present, and seek further. Then he remembered hearing the doctor tell about certain things
that threatened to make patients lose a finger. So, the boy eagerly drew his sore toe from
under the sheet and held it up for inspection. It seemed worthwhile to chance it, so he fell to
groaning with considerable spirit.

SubQuestion No : 8

Q.8 Select the most appropriate synonym of the word
‘ailment’.

Ans X 1.Remedy

25 2. Pretext
25 3. Relief
" 4. lliness
Question Type : MCQ
Question ID : 387868521
Option 11D : 3878682038
Option 2 ID : 3878682037
Option 3 1D : 3878682039
Option 4 ID : 3878682040
Status : Answered
Chosen Option: 3
Comprehension:
Read the given passage and answer the questions that follow.
Tom Sawyer found Monday morning miserable. He always found it so because it began
another week’s slow suffering in school. Tom lay thinking. Presently it occurred to him that he
wished he was sick; then he could stay home from school. Here was a vague possibility. But
no ailment was found. Suddenly, he discovered something. One of his upper front teeth was
loose. This was lucky ; he was about to begin to groan, when it occurred to him that his aunt
would pull it out, and that would hurt. So, he thought he would hold the tooth in reserve for the
present, and seek further. Then he remembered hearing the doctor tell about certain things
that threatened to make patients lose a finger. So, the boy eagerly drew his sore toe from
under the sheet and held it up for inspection. It seemed worthwhile to chance it, so he fell to
groaning with considerable spirit.
SubQuestion No : 9
Q.9 Why was Tom miserable on Monday morning?
Ans X 1. His loose tooth was hurting.
" 2. He would have to go to school.
5 3. He had to visit the doctor.
< 4. He had a sore toe.
Question Type : MCQ
Question ID : 387868519
Option 1 1D : 3878682030
Option 2 ID : 3878682031
Option 3 ID : 3878682029
Option 4 ID : 3878682032
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the questions that follow.

Tom Sawyer found Monday morning miserable. He always found it so because it began
another week’s slow suffering in school. Tom lay thinking. Presently it occurred to him that he
wished he was sick; then he could stay home from school. Here was a vague possibility. But
no ailment was found. Suddenly, he discovered something. One of his upper front teeth was
loose. This was lucky ; he was about to begin to groan, when it occurred to him that his aunt
would pull it out, and that would hurt. So, he thought he would hold the tooth in reserve for the
present, and seek further. Then he remembered hearing the doctor tell about certain things
that threatened to make patients lose a finger. So, the boy eagerly drew his sore toe from
under the sheet and held it up for inspection. It seemed worthwhile to chance it, so he fell to
groaning with considerable spirit.

SubQuestion No : 10
Q.10 ‘he thought he would hold the tooth in reserve for the present, ' This implies that:
Ans X 1. Tom wanted his aunt to believe he was really in pain

«# 2. Tom was looking for a better excuse to stay at home
2% 3. Tom was more worried about losing a finger

< 4. Tom would wait for the tooth to fall out on its own

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868520
3878682036
3878682034
3878682035
3878682033
Answered

2

Section : Marathi

Q.11 3I<Ieh ATFARTHAT QAT
Ans X 1. 9G] UThTde S&1H AT aTSidic] UedehTell aTeel Bid HeftedT ST-HTAT deb! Tl

X 2. gefrer re STt At aTdidieT TiehTell TR UTchldel S&T T aTed gid.
o 3. T YelT<aT ST It AT ATSIditel HAhI HIREeAT UTehlde! J&rT dTee .
< 4. TS TR AT T HeA AT SIHTAT debt UTehTde! SaTH HRa<AT aTedt gid.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868528
3878682068
3878682065
3878682067
3878682066
Answered

3




Q.12 YA dIGHd A6t FTSYZT hiFese. ar arerei fagaot wim.

Ans X 1. dTcaId,hIdcse

< 2. TR SR GI
o 3. IR, HIS
X 4 WS FEgg
Question Type : MCQ
Question ID : 387868523
Option 1 ID : 3878682045
Option 2 ID : 3878682048
Option 3 ID : 3878682047
Option 4 ID : 3878682046
Status : Answered
Chosen Option: 3
Q.13 'AT=ET AT SRTT areRe’ AT Fgoftar At aref @i,
Ans X 1. g@Eren MelRf FwvaE ey a9t
75 2. 9 aRET Rt st
X 3. @y AteT @ ot
o 4. BT T A TS T MEd QY graqot
Question Type : MCQ
Question ID : 387868527
Option 1 ID : 3878682064
Option 2 ID : 3878682063
Option 3 ID : 3878682061
Option 4 ID : 3878682062
Status : Answered
Chosen Option : 4
Q.14 e a1 2rsgran fRegreff reg wivm.
Ans o 1. Ty
X 2. uRmes
X 3. g
X 4. g
Question Type : MCQ
Question ID : 387868526
Option 1 1D : 3878682059
Option 2 ID : 3878682058
Option 3 ID : 3878682057
Option 4 ID : 3878682060
Status : Answered

Chosen Option :

1




Q.15 wivfigd) arofi 3w e & , Srawier A @, ar s frarfaivot siear.
Ans o 1. I, AR T

2< 2. iofighuroft,wme
< 3. uroft graerr 74
< 4. 3T, Frgenterentofigt

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868522
3878682041
3878682044
3878682042
3878682043
Answered

1

Q.16 g&ITAhI IvraT 2es 'HATS' AT AT FHFTAT AT 2

Ans X 1. g&
W 2.d=
X 3.a&
X 4gm
Question Type : MCQ
Question ID : 387868525
Option 1 ID : 3878682054
Option 2 ID : 3878682055
Option 3 ID : 3878682053
Option 4 ID : 3878682056
Status : Answered
Chosen Option : 3
Q.17 "I Y&ich arad 9. " IT ATeRITelIel hies hIvTdT T8 ?
Ans X 1. gof sdemre
o 2. AfAyaas
X 3. oot siaapTes
< 4. T Yl
Question Type : MCQ
Question ID : 387868524
Option 11D : 3878682051
Option 2 ID : 3878682052
Option 3 ID : 3878682050
Option 4 ID : 3878682049
Status : Answered

Chosen Option : 2




Comprehension:

Tt IarT aran snfr géier wari<h IR am.

LMMST UfgelT feae TguTet iR ST Hefelet STaR. ATfeasft Ui ST0T 2MMesd 3 At STUet e o3t
foRaaraTs. smuet S Taf-t TGt el BUH STefiR UM & ORI amerauT onfoy ' arefia o3t
Yo 31T AT Ag=aTeR 3 AT I1eroms) oft U, Yehal ol AT BT chideh G STet Y Turde,
TgT, GAch ST %™ ehigch hed! ehioT ?

HISAT SR STAST I T oA 1aT FeR g, TUT Hell ol STeTauTd U SRRT fHaTett. gor #er SHsid
i & YehaT ol HeTl D31 Siell i ATSAT 1 A8 HIESHT GG off STl ANTOMR. d<tal QATesd STTor=at
HISAT eTehea HTare et S3ff fAieTett. ShRoT ST Ate afgufiaT Srsideryo.

ST AT SIS TR & ... Yok g, GURT HIST. T &4 fha fi... a1, sreeT, et ma
STETAT ATEC ATCUIT ThIRUT FEUTST HIATEAT AT T St ST el festert. Uor af #RIST M ey
STAT 1 TEAT. HTITIHTT T oA Thepe ferell. T AMedd AT+l ‘Aol Bt 76U fasad gia.

SubQuestion No : 18

Q.18 wra ufgear Rasfta o3t thaga feeht wRvr.....

Ans

7 1. ureETa et Serd girelt g,
X 2. A 1 St gl

o 3. T 2MTesd rsad gl
75 4. AT SRR HIST FegaT

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868532
3878682078
3878682079
3878682080
3878682077
Answered

3




Comprehension:

Tt IarT aran snfr géier wari<h IR am.

LMMST UfgelT feae TguTet iR ST Hefelel STaR. ATfeasft Ui ST0T 2Mesd 3% |t STUet e 3t
fiRauaraTs. smuet S Tai-t TGt enrd! BU STefiR SIUMR & ORI ameraT onfoy ' arefia o3t
Yo 31T AT Ag=aTeR 3 AT I1erom) ft Urse. Yehal ol AT BT chideh G STe hY Turde,
TgT, GAch ST %™ ehigch hed! ehiuT ?

HISAT SR STAST I T oA 1aT FeR g, UUT Hell ol STeTauTd U SRRT fHaTett. gor #er gHsid
i & YehaT ol HeTl D31 Siell i ATSAT 1 A8 HIESHT GG off STl ANTOMR. d<tal QATesd STTor=at
HISAT eTehea HTare et S3ff fAieTett. ShRoT ST Ate afgufiaT Srsideryo.

STETAT ATEC ATCUIT ThIRUT FEUTST HIATEAT AT T St ST el festert. Uor af #RIST M ey
STAT 1 TEAT. HTITIHTT T oA Thepe ferell. T AMedd AT+l ‘Aol Bt 76U fasad gia.

SubQuestion No : 19

Q.19 'Q<' ar ruf=n IaT=ATdI 2Uee M.

Ans

X1 R
o 2.
X 3.d
< 4. R
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
387868531
3878682073
3878682074
3878682075
3878682076
Answered

4




Comprehension:
Tt IarT aran snfr géier wari<h IR am.

LMMST UfgelT feae TguTet iR ST Hefelet STaR. ATfeasft Ui ST0T 2MMesd 3 At STUet e o3t
foRaaraTs. smuet S Taf-t TGt el BUH STefiR UM & ORI amerauT onfoy ' arefia o3t
Yo 31T AT Ag=aTeR 3 AT I1eroms) oft U, Yehal ol AT BT chideh G STet Y Turde,
TgT, GAch ST %™ ehigch hed! ehioT ?

HISAT SR STAST I T oA 1aT FeR g, TUT Hell ol STeTauTd U SRRT fHaTett. gor #er SHsid
il & YehaT ol HeTl D31 Saiell i ATSAT 1 A8 HIESHT GG off STl ANTOMR. dial QATesd STor=at
HISAT eTehea HTare et S3ff fAieTett. ShRoT ST Ate afgufiaT Srsideryo.

STETAT ATEC ATCUIT ThIRUT FEUTST HIATEAT AT T St ST el festert. Uor af #RIST M ey
STAT 1 TEAT. HTITIHTT T oA Thepe ferell. T AMedd AT+l ‘Aol Bt 76U fasad gia.

SubQuestion No : 20

Q.20 =AM FAT hivTedt MET Fafd SI™d wigeh sia?

Ans X 1.7 agn
25 2. 7l TToTae
o 3. T St
X 4 989 g
Question Type : MCQ
Question ID : 387868530
Option 11D : 3878682069
Option 2 ID : 3878682072
Option 3 ID : 3878682071
Option 4 ID : 3878682070
Status : Answered
Chosen Option : 3
Section : General Knowledge
Q.21 2011 =T STIVHFHR, AgRIETHI fahell fSiegrined ol quir & 1000 e sia (Fan ufa
BYIR YoHT=AT Jeiid) 311g?
Ans X 1.4
o 2.2
5 3.3
X 4.1
Question Type : MCQ
Question ID : 387868539
Option 11D : 3878682108
Option 2 ID : 3878682106
Option 31D : 3878682107
Option 4 ID : 3878682105
Status : Answered
Chosen Option : 2




Q.22 SEgRAS 9] AR Yehfae IR SeTE-T U1 FHIgt HU=T TTad. a8 qui- chetedr

Ans X 1. uRgof wuf

X 2. URITPR Tt
o 3. STUSHIARR
X 4. TR
Question Type : MCQ
Question ID : 387868537
Option 1 ID : 3878682098
Option 2 ID : 3878682097
Option 31D : 3878682100
Option 4 ID : 3878682099
Status : Answered
Chosen Option: 2
Q.23 UNEP 3 SmifSie dhetear 50 &1 STRTfaeh gafaror f&aw (World Environment Day) 2022 =1 fawa
@1 gar?
Ans o 1. 37l a9 312f (Only One Earth)
< 2. TEH ®BR AR (Time for Nature)
2 3. faéin wifeer giege™ (Beating Plastic Pollution)
2< 4. TR Uieg™ (Air pollution)
Question Type : MCQ
Question ID : 387868534
Option 1 ID : 3878682086
Option 2 ID : 3878682087
Option 3 ID : 3878682085
Option 4 ID : 3878682088
Status : Answered
Chosen Option: 1
Q.24 #gRTgTe AGfife Gar= aredid, TR TR HrEd hnEtd ufig mg?
Ans X 1.99
o 2. TSI disEr
X 3.5
X 4 g
Question Type : MCQ
Question ID : 387868540
Option 1 ID : 3878682110
Option 2 ID : 3878682112
Option 31D : 3878682111
Option 4 ID : 3878682109
Status : Answered

Chosen Option: 2




Q.25 WrefieTdh! v a=rsiia VIR AhEATS (Malabar giant squirrel) g smg?
Ans X 1. FIERT aSE SRTg

< 2. QERAR gISig SR
/< 3. AUTe ggSiig SRy
o 4. TR g=siig SraReg

Question Type : MCQ
Question ID : 387868541
Option 11D : 3878682114
Option 2 ID : 3878682116
Option 3 ID : 3878682115
Option 4 ID : 3878682113
Status : Answered
Chosen Option : 4
Q.26 R ASTHEAT VAT IHTSATHR AERIETE Siegt Fats affdi=f fAfifdt sxvara sieft?
Ans X 1.3/ 243ZB
< 2. 3% 243ZA
o 3. 9T 243ZD
< 4. age3g 243ZC
Question Type : MCQ
Question ID : 387868538
Option 1 ID : 3878682102
Option 2 ID : 3878682101
Option 3 ID : 3878682104
Option 4 ID : 3878682103
Status : Answered
Chosen Option: 2
Q.27 2022 AR TrgRIRHE WRhH-T $3T (EPI) e, I« 10T ahieiforan faremdisiwan Sanereni-t
heteuT fA=ATUId 2 ¢o 2R AaeaT shHThTAR HIUTAT 33T gHr?
Ans X 1. SR
o 2. Rd
< 3. 9ga
X A, uiferam
Question Type : MCQ
Question ID : 387868535
Option 11D : 3878682091
Option 2 ID : 3878682092
Option 3 ID : 3878682089
Option 4 ID : 3878682090
Status : Answered
Chosen Option : 2




Q.28 is a form of financial service which provides small loans and other financial

services to poor and low income households.

Ans X 1. Qualifying Asset
< 2. Microeconomics
" 3. Microfinance

25 4. Over-indebtedness

Question Type :
Question ID :

Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

McQ
387868536

: 3878682094
: 3878682093
: 3878682095
: 3878682096

Status :
Chosen Option :

Answered
3

Q.29 @ 2022 Hed TR T TN T o Frght awoara amef?
Ans X 1. 989 SE

X 2. T HIEHEG 2E

o 3. Uforgmay o

72< 4. St srearier

Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

Chosen Option :

MCQ
387868533
3878682083
3878682081
3878682082
3878682084
Answered

4

Q.30 2011 =0T SVHIHR, @i ieddh! shiuret fAegma foi o= 1000 dar S emg?
Ans X 1. TsfRRIe

< 2. STl
o 3. Riygt
&4 Hs/a

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

McQ
387868542
3878682119
3878682117
3878682120
3878682118
Answered

Chosen Option : 3

Section : Logical Ability




Q.31 &®
A + B IgUTSt A @ B 9 gl 3112,
A - B TgUTSt A €T B 9T 9T 311g;
A % B %gUTSt A @1 B =t ueft ang;
A x B 7gUTSt A €1 B <t orrs 3rg,
i1 @reflel GHieRRoTd A 9 B 2ft & 1at 3m@?
AxC%B+D

Ans X 1.3
o 2.9
X3
X 4wt

Question Type : MCQ
Question ID : 387868551
Option 1 ID : 3878682155
Option 2 ID : 3878682153
Option 31D : 3878682154
Option 4 ID : 3878682156

Status : Answered

Chosen Option : 2

Q.32 @rieT 31aR, T, fRAsgi=h Arferent ugT Sfor usma S«= .

(e ) C3GT*R%8589@A2 "H6J3K&%2GSU#*P35L$ (Ioh)

Aiferehge | 31&R T SIOT SetedT M} Serear s fofgears, @iefierdeh! g Istdieng

STSET RTHTIRIA STt sraatear Mtz faa=ar v s™e?
Ans X 1.3

o 2.6
X 3.8
P

Question Type : MCQ
Question ID : 387868548
Option 11D : 3878682142
Option 2 ID : 3878682141
Option 3 ID : 3878682144
Option 4 ID : 3878682143

Status : Answered

Chosen Option : 2




Q.33 D, E, F, P Q, R 31foY, S & 1 M= Teht a5 30 3N 3md. 1 gafa e Siehs 3mg. Q nforD
A Beh o9 2=hY 33T 3gd. E &1 F =7 IsTdiens faa=ar e 39T 312, P g1 S =1 eivlient
ISTeAT JATSIAT IHT 3Tg. F 8T Jdid tehlei Ufgedr SATHIER INT 3118 D AT STfiehs heh &I ahl

Ans

39T 3MTad. R 3nfoY P gi=ar aed faheh ea=hl smga?

o 1.dF
X2em
K 3.3
X 4.7%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868543
3878682124
3878682123
3878682121
3878682122
Answered

1




Q.34 Select the figure that will come next in the following figure series.

Ans

t 3 3 t b t 7
b 3 7 t

b 7 g g g n

g b

n t

g

n

g b

N

g 7 b

3

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868552
3878682159
3878682160
3878682158
3878682157
Answered

4




Q.35 S, T, U, V, W 31ifor X 3121 HaT ca=h! &ieat aoi-IgaR 33T 3iTad. X 8T U Ber as &+t og. S
BT U Q& IoT-_ STIRd 31T 9T V UefT aoi-= &l 318, Tk Uk ea<hl W 9etT a4 ST 311g. V

@ g9 gafd S A1EY. aR @iefleTdehl o1 W G&iT SS9 ST 311e?

Ans o 1. T
X2V
X 3.U
X 4.s
Question Type : MCQ
Question ID : 387868546
Option 1 ID : 3878682134
Option 2 ID : 3878682136
Option 3 ID : 3878682135
Option 4 ID : 3878682133
Status : Answered
Chosen Option : 1
Q.36 Raeh R anfor s wressitgde aran. Ruria e mifgdt adammaao aa awaiden
= area sraeht a9t <t T e oRr nfor RAwardh wtorar/wioR ey e e
arfchehgeaT SITERUT hedl/hTd d .
faem:
HTET HTe AT TR,
T AT fAehetet s1Tgd.
vl feree ssft Ardt.
fArsepef:
1. SRTEY TS T AaRhY 3iie efgd.
II. T ARt ariet emga.
1. T FATeT Siiet STAUGTH AT 3MTE.
IV. TTet rSaT fAehdle smad.
Ans o 1. RITATE ShY SIEROT R AT
2< 2. fseR |1 STIfoY 1V Gegl SeRoT hdTd.
2< 3. fsaRef | S7IfoT IV Gleel SrgeRoT .
2< 4. TSR |11 Sy |V St SIaRuT shedrd.
Question Type : MCQ
Question ID : 387868545
Option 1 ID : 3878682129
Option 2 ID : 3878682130
Option 3 ID : 3878682132
Option 4 ID : 3878682131
Status : Answered

Chosen Option :

1




Q.37 @t Reear d&imsier adf sier Ieie s fgeara arcfiedd s S8« 3 7 YRT SR

arEr?
765, 189, 945, 236, 591
Ans X 1.765
X 2.189
«" 3.236
X 4.945
Question Type : MCQ
Question ID : 387868549
Option 11D : 3878682147
Option 2 1D : 3878682146
Option 31D : 3878682148
Option 4 1D : 3878682145
Status : Answered
Chosen Option : 1
Q.38 Uert fafAre Hichfaer wme, 'LOTUS' & 'PNSRS' 311for 'HOPED' @1 'PJOCC' 3r@ faifget . ar &
AT ‘TRUST’ ha fofger siger?
Ans X 1.SVTQS
" 2.SVTSQ
x 3.SVTRR
< 4.STVSQ
Question Type : MCQ
Question ID : 387868550
Option 11D : 3878682151
Option 2 ID : 3878682149
Option 3 ID : 3878682152
Option 4 ID : 3878682150
Status : Answered
Chosen Option : 1
Q.39 U ASTdi<AT SRR <R, A, 3/, THe S1fOT 31 @ UT=I ST0T ST HeledTeR
AEATd. FARCAIA A Fafd Wier=ar AsieuraT shich 1 318, T<T aR=d1 HoTedTdT shHich 2 3T
ST 312 UhR Y Hald aR=aT ASTeardT shilich 5 3Tg. ST HH-hHlich HHQwdT ASTiedTay
g, Sit ASTeT fame Agal AT AsTear=T SRieR Wielt 8. YH GH-shHich SIeedT Aoiedray
gl Ul At AT shHich 4 ATEY. A Ued AT ASTedTAT We! theh &I S<h! AgdTd. T=
qu [ Tgal r getear=n <R frdt eo=h Tgara?
Ans o 1. F
X 239
X3t
X 4.9R
Question Type : MCQ
Question ID : 387868544
Option 1 ID : 3878682126
Option 2 ID : 3878682125
Option 31D : 3878682128
Option 4 ID : 3878682127
Status : Answered

Chosen Option :

1




Q.40 Select the combination of letters that when sequentially placed in the blanks of the given

Ans

series will complete the series.

AB3C, BD6F, _ _ __, DH8L, EJ60, FL12R, GN10U

& 1.CF4l
7< 2.CF4J
< 3.CF10l
< 4.CF9l

Question Type :

Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

MCQ
387868547
3878682139
3878682140
3878682137
3878682138
Answered

Chosen Option: 2

Section : Civil Engineering

Q.41 The indentation on one or both of the 4 14 to 9 in the surface of the brick is called:

Ans X 1. freeze
« 2. frog
X 3. throating
# 4. quoin
Question Type : MCQ
Question ID : 387868555
Option 1 ID : 3878682171
Option 2 ID : 3878682172
Option 3 ID : 3878682170
Option 4 ID : 3878682169
Status : Answered
Chosen Option : 2
Q.42 The freshly detailed estimate prepared when additional works are found necessary during the progress of the project in
addition to the original sanctioned estimate is called:
Ans % 1. approximate estimate
X 2. revised estimate
« 3. supplementary estimate
X 4. detailed estimate
Question Type : MCQ
Question ID : 387868599
Option 11D : 3878682347
Option 2 ID : 3878682345
Option 3 1D : 3878682348
Option 4 ID : 3878682346
Status : Answered
Chosen Option : 3




Q.43 The cross-section area of the steel rod is 100 mm? and was tested for tension within the elastic region in the laboratory

with a tensile force of 50 kN. The rod was elongated by 0.2 mm in a gauge length of 200 mm length. What is the value

of Young's modulus of the rod?

Ans 1. 200 GPa
< 2 350 GPa
<3 250 GPa
o 4 500 GPa
Question Type : MCQ
Question ID : 387868564
Option 1 ID : 3878682205
Option 2 ID : 3878682207
Option 3 ID : 3878682206
Option 4 ID : 3878682208
Status : Answered
Chosen Option : 1
Q44 The ratio of plasticity index to flow index is called:
Ans X 1. consistency index
X 2. liquidity index
X 3. shrinkage index
« 4. toughness index
Question Type : MCQ
Question ID : 387868570
Option 1 ID : 3878682230
Option 2 ID : 3878682231
Option 3 ID : 3878682229
Option 4 ID : 3878682232
Status : Answered
Chosen Option : 4
Q.45 Which of the following is an example of metamorphic rock used for construction?
Ans % 1. Rhyolite
X 2. Tuff
X 3. Gabbro
« 4 Marble
Question Type : MCQ
Question ID : 387868588
Option 1 ID : 3878682303
Option 2 ID : 3878682304
Option 3 ID : 3878682302
Option 4 ID : 3878682301
Status : Answered

Chosen Option : 4




Q.46

Ans

Which of the following is a secondary air pollutant?
A 1. Oxides of carbon

# 2. Oxides of nitrogen

« 3. Ozone

X 4. Oxides of sulphur

Question Type : MCQ
Question ID : 387868608
Option 11D : 3878682383
Option 2 ID : 3878682381
Option 3 ID : 3878682382
Option 4 ID : 3878682384

Status : Answered
Chosen Option: 3

Ans

+« 1. 0.2 mm and 0.0002 mm
# 2. 0.3 mm and 0.0003 mm
#3. 0.1 mm and 0.001 mm

ZA 4 0.1 mm and 0.0001 mm

Q.47 What is the upper and lower limit of particle size used in the sedimentation analysis of soil in the laboratory?

Question Type : MCQ
Question ID : 387868573
Option 1 ID : 3878682243
Option 2 ID : 3878682244
Option 3 ID : 3878682241
Option 4 1D : 3878682242

Status : Answered

Chosen Option : 1

Ans

specific weight of the seawater is 9.78 KN/m?

< 1. 100 m

« 2 11226 m
X3 110 m
X4 108.6 m

Q.48 cCalculate the depth of a point below the water surface in a sea where the pressure intensity is 1098 kN/m” and the

Question Type : MCQ
Question ID : 387868578
Option 1 ID : 3878682261
Option 2 ID : 3878682262
Option 3 ID : 3878682264
Option 4 ID : 3878682263

Status : Answered

Chosen Option : 3




Q.49 The following statements are related to steel beam.

1. A steel beam with a perforated web is called a encased beam.

2. A steel beam totally surrounded by concrete is called castellated beam.

Select the correct option.

Ans 1. Both statements are false.

# 2. Statement 1 is true and 2 is false.
& 3. Statement 1 is false and 2 is true.

/< 4. Both statements are true.

Question Type : MCQ
Question ID : 387868597
Option 1 1D : 3878682340
Option 2 ID : 3878682337
Option 31D : 3878682338
Option 4 ID : 3878682339
Status : Answered
Chosen Option : 4
Q.50 The Water (prevention and control of Pollution) Act was enacted by the government of India in the year
Ans 1. 1956
v 2 1974
< 3. 1964
<4 1986
Question Type : MCQ
Question ID : 387868605
Option 1 ID : 3878682369
Option 2 ID : 3878682371
Option 3 ID : 3878682370
Option 4 1D : 3878682372
Status : Answered
Chosen Option: 2
Q.51 Two unlike parallel forces of magnitude 300N and SON are acting in such a way that their lines of action are 100 mm
apart. Determine the magnitude of the resultant force and the point at which its acts.
Ans 1. 20 mm
X< 2 18 mm
X3 13.4 mm
A4 111 mm
Question Type : MCQ
Question ID : 387868611
Option 1 ID : 3878682396
Option 2 ID : 3878682395
Option 3 ID : 3878682394
Option 4 ID : 3878682393
Status : Answered
Chosen Option : 2




Q52 gelect the statically determinate beam from the following.

Ans
1 1
. ¢
o 3 — E B
W Wi
#
1 v Y
#
X3
N
fr I {2 I
v
/]
/]
4 A B
[ i
Question Type : MCQ
Question ID : 387868579
Option 11D : 3878682267
Option 2 ID : 3878682266
Option 31D : 3878682268
Option 4 ID : 3878682265
Status : Answered
Chosen Option : 4
Q.53 1If *Q’ is the total quantity of water required for various purposes by a town per year and “p’ is the population of the
town, then per capita demand will be:
Ans p i /d
1. ——— litres/da
x Q % 365 3
365
X2 litres/day
pxe
pQ
X 3. — litres/da
365 /day
o 4 ———— litres/da
p X 365 /day
Question Type : MCQ
Question ID : 387868604
Option 1 ID : 3878682365
Option 2 ID : 3878682367
Option 3 ID : 3878682368
Option 4 ID : 3878682366
Status : Answered
Chosen Option : 1




Q.54 1If the pitch diameter of a Pelton wheel is 50 mm and the jet diameter is 10 mm, then the jet ratio of a turbine is:

Ans  X'1.10.00
« 2. 5.00
X3.0.20
< 40,50
Question Type : MCQ
Question ID : 387868574
Option 1 ID : 3878682248
Option 2 ID : 3878682247
Option 3 ID : 3878682245
Option 4 ID : 3878682246
Status : Answered
Chosen Option : 2
Q.55 A vehicle was stopped in 1.4 seconds by fully jamming the breaks and the skid marks measured 7.0 m. Determine the
average skid resistance.
Ans % 1.0.70
« 2. 0.729
< 3.0.730
<4 0.69
Question Type : MCQ
Question ID : 387868589
Option 1 ID : 3878682306
Option 2 ID : 3878682305
Option 31D : 3878682308
Option 4 1D : 3878682307
Status : Answered
Chosen Option: 1
Q.56 The permissible stress in axial steel tension member whose yield stress is 100 MPa is
Ans & 1. 60
<2 70
<340
<450
Question Type : MCQ
Question ID : 387868595
Option 11D : 3878682331
Option 2 ID : 3878682332
Option 31D : 3878682329
Option 4 ID : 3878682330
Status : Answered
Chosen Option : 1




Q.57 What is the bearing length under each rail seat for a Broad-Gauge wooden sleeper in Indian railways?

Ans 1. 89 cm
<2 80 cm
3 92 cm
<4 95 cm

Question Type : MCQ
Question ID : 387868591
Option 1 ID : 3878682315
Option 2 ID : 3878682313
Option 3 ID : 3878682314
Option 4 ID : 3878682316

Status : Answered

Chosen Option : 1

Q58 gelect the correct description of ‘Horn’ component in doors.

Ans o 1.
The extra projection of about 100 to 150 mm in length of the frame beyond the opening to fix in the wall.

x 2
It is a piece of timber fixed in an inclined position within a frame.
X 3.
It is the recess made inside the door frame to receive the door frame.

< 4. Tt is the outside vertical member of the shutter.

Question Type : MCQ
Question ID : 387868556
Option 11D : 3878682176
Option 2 ID : 3878682175
Option 3 1D : 3878682173
Option 4 ID : 3878682174

Status : Answered

Chosen Option: 1




Q.59 cCantilever beam of length [ carrying uniformly distributed load (w/m) is shown in the figure. What is the maximum

slope at the free end B where ET is the flexure rigidity?

) wim
A
o v
8EI
v Ve
6El
xa WL
2EI
xa WE
4FE]

Question Type:
Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

MCQ
387868580
3878682272
3878682271
3878682269
3878682270
Answered

2




Q.60 In the design of RCC structures, the development Length (L) of Bar is calculated using which of the following

formulas?

‘Where,

&= nominal diameter of the bar,

G, = stress in bar at the section considered at design load, and

Tpgq =design bond stress

Ans o L PTpa
4o,
3po
5
?( 2. Ld =
4de
PO
o 3. Ld =
4de
PO
X< 4 Ld =
Thd
Question Type : MCQ
Question ID : 387868596
Option 1 1D : 3878682336
Option 2 ID : 3878682334
Option 3 1D : 3878682333
Option 4 ID : 3878682335
Status : Answered
Chosen Option: 3
Q.61 The existence of perfect balance or equilibrium between various organisms in the natural environment is called:
Ans X 1. nutrient cycle balance
X 2. ecohydrological balance
X 3. hydrological balance
« 4. ecological balance
Question Type : MCQ
Question ID : 387868603
Option 11D : 3878682364
Option 2 ID : 3878682363
Option 31D : 3878682362
Option 4 ID : 3878682361
Status : Answered
Chosen Option : 4




Q.62

The breakup or detachment of the biomass (biological solids) from the slime layer in the trickling filters of secondary
wastewater treatment is known as:

Ans X 1. sedimentation
« 2. sloughing
~ 3. flocculation
X 4. coagulation
Question Type : MCQ
Question ID : 387868606
Option 11D : 3878682373
Option 2 ID : 3878682376
Option 3 ID : 3878682375
Option 4 ID : 3878682374
Status : Answered
Chosen Option : 3
Q.63 WWhat is the unit of measurement for Honey-comb brickwork in CM 1 : 4?
Ans X 1. Cubic metre
« 2. Square metre
~ 3. Numbers
< 4. Per metre
Question Type : MCQ
Question ID : 387868600
Option 11D : 3878682351
Option 2 ID : 3878682350
Option 3 ID : 3878682352
Option 4 ID : 3878682349
Status : Answered
Chosen Option : 2
Q.64 wWhich of the following is NOT a function of admixture used in concrete?
Ans X 1. To accelerate the initial set of concrete
+ 2. To increase the rate of bleeding of concrete
# 3. To produce cellular concrete
X 4. To reduce the segregation in grout and concrete mixtures
Question Type : MCQ
Question ID : 387868568
Option 11D : 3878682221
Option 2 ID : 3878682224
Option 3 ID : 3878682223
Option 4 ID : 3878682222
Status : Answered
Chosen Option : 2




Q.65 The process of putting the plane table into some fixed direction so that line representing a certain direction on the plane

Ans

is parallel to that direction on the ground is called:

X 1. levelling
X 2. cenftring

« 3. orientation

X 4. sighting
Question Type : MCQ
Question ID : 387868557
Option 11D : 3878682178
Option 2 ID : 3878682177
Option 3 1D : 3878682179
Option 4 ID : 3878682180
Status : Answered
Chosen Option : 3
Q.66 What is the absolute pressure of a gas at point A in the bulb shown in the figure?
-==F
-=-=-=E
p=13.6g/ml
(Mercury)
Ans 1. 771.2 mm of Hg
X 2. 560.5 mm of Hg
X3 7154 mmof Hg
X 4. 625.6 mm of Hg
Question Type : MCQ
Question ID : 387868575
Option 1 1D : 3878682252
Option 2 ID : 3878682249
Option 3 ID : 3878682251
Option 4 ID : 3878682250
Status : Answered
Chosen Option: 3




Q.67 Match the following terminologies and definitions used in valuations.

Terminologies Definitions
1's A. The estimated value of a built up property at the end
. Scra
P of its useful life without being dismantled.
value
B. The value of the property is fixed by the rate of
2. Salvage o
depreciation.
value
C. The value of dismantled materials of a built up
3. Market . » .
property at the end of its utility period.
value
D. The value at which it can be sold in the open domain
4. Book . .
at particular time.
value
Ans 1. 1-C:2-A:3-D: 4-B

x 2
x 3.
X 4

I-B: 2-A; 3-D: 4-C
1-D: 2-A: 3-C:. 4-B
1-C: 2-D: 3-A: 4-B

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868602
3878682357
3878682358
3878682360
3878682359
Answered

1

Q.68 The effective stress of soil controls all the following properties, EXCEPT

x 1.

Ans

permeability

+ 2. bending strength

X 3. compressibility

X 4. shear strength

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868571
3878682234
3878682236
3878682235
3878682233
Answered

2




Q.69 The IS 456-2000 recommended value of the effective length of an RCC compression member having unsupported

length L shown in the figure, effectively held in position and restrained against rotation in both ends is:

Ans 1. 0.65L

<2 1.0OL
<3 1.50L
<4 080L
Question Type : MCQ
Question ID : 387868598
Option 1 ID : 3878682341
Option 2 ID : 3878682343
Option 3 ID : 3878682344
Option 4 ID : 3878682342
Status : Answered
Chosen Option : 1
Q.70 Compute the equivalent radius of the resisting section of a 20 c¢m slab, given that the radius of the contact area wheel
load is 10 cm.
Ans
« 1. 4/560 cm
X2 4/490 cm
<3 4/520 cm
X4 4/450 cm
Question Type : MCQ
Question ID : 387868590
Option 11D : 3878682312
Option 2 ID : 3878682310
Option 3 ID : 3878682311
Option 4 ID : 3878682309
Status : Answered
Chosen Option: 3




Q71 The timber, which is sawn into planks. posts etc. is called:

Ans X 1. durable timber

X 2. standing timber
X 3. rough timber

« 4 lumber timber

Question Type : MCQ
Question ID : 387868554
Option 11D : 3878682168
Option 2 ID : 3878682165
Option 31D : 3878682166
Option 4 ID : 3878682167
Status : Answered
Chosen Option: 2
Q.72 What is the maximum percentage of water absorption by weight of the burnt clay bricks of class 30 as per
IS 1077-1992 when tested in accordance with the standard procedure after immersion in cold water for 24 hours?
Ans X 1. 30%
X2 10%
< 3. 40%
4 20%
Question Type : MCQ
Question ID : 387868553
Option 1 ID : 3878682163
Option 2 1D : 3878682161
Option 31D : 3878682164
Option 41D : 3878682162
Status : Answered
Chosen Option: 2
Q.73 Two distances of 20 and 100 metres were accurately measured out and the intercepts on the staff between the outer
stadia webs were 0.196 m at the former distance and 0. 996 at the latter. Calculate the tacheometric constants K and C.
Ans X1 0.4 and 100
# 2. 0and 100
+ 3 100 and 0.4
X4 100 and 0
Question Type : MCQ
Question ID : 387868559
Option 11D : 3878682186
Option 2 ID : 3878682188
Option 31D : 3878682187
Option 4 ID : 3878682185
Status : Answered
Chosen Option : 4




Q.74 Avehicle has a wheelbase of 6.5 m. What is the off tracking while negotiating a curved path with a mean radius

of 32 m?
Ans X 1.0.59m
X2 0.77m
3. 0.00 m
X4 070 m
Question Type : MCQ
Question ID : 387868592
Option 1 1D : 3878682320
Option 2 ID : 3878682318
Option 3 ID : 3878682317
Option 4 ID : 3878682319
Status : Answered
Chosen Option : 2
Q.75 A simple truss is shown in the figure. What is the degree and type of this truss?
Ans  X1. Zero degree perfect truss
X 2. One degree space truss
« 3. Two degree redundant truss
X 4. Two degree deficient truss
Question Type : MCQ
Question ID : 387868583
Option 11D : 3878682281
Option 2 ID : 3878682284
Option 31D : 3878682283
Option 4 ID : 3878682282
Status : Answered

Chosen Option :

1




Q.76 Find the centre of gravity of a segment of height 50 mm of a sphere of radius 80 mm.
Ans 1. 493 mm

< 2. 55 mm

<3 45 mm

o 4 4776 mm

Question Type : MCQ
Question ID : 387868610
Option 1 1D : 3878682391
Option 2 ID : 3878682392
Option 3 ID : 3878682389
Option 4 ID : 3878682390

Status : Answered
Chosen Option : 2

Q.77 A fixed beam shown in the figure carries a point load of 20 kN at the centre. How many contraflexure point exist and
where does they position?

20KN

\\ll 3m 3m [
[=6m r

Ans 1. One confraflexure point exists at exactly below 20 kN load.

X 2. Zero contraflexure point exists and no position.

« 3. Two contraflexure points exists at 1.5 m from A and B.

X 4
Three contraflexure points exists at 1.5 m, 3 m and 4.5 m from point A.

Question Type : MCQ
Question ID : 387868581
Option 1 ID : 3878682274
Option 2 ID : 3878682273
Option 3 ID : 3878682275
Option 4 ID : 3878682276

Status : Answered

Chosen Option : 2




Q.78

The engineering project is modelled by the activity network as shown below. The activities are represented by the arcs.

The number in brackets on each arc gives the time, in days, to complete the activity, What are the early time and the late

time for event 97

Ans 1. 54,54
X 2. 45,45
<3 33,33
<4 39 42
Question Type : MCQ
Question ID : 387868587
Option 1 ID : 3878682297
Option 2 ID : 3878682298
Option 3 ID : 3878682300
Option 4 ID : 3878682299
Status : Answered
Chosen Option: 2
Q.79 What is the shear force at point C for the beam subjected to a moment of 15kN-m as shown in the figure? Note: A and B
are the simple support with A being downward and B being upward.
15 KN/m
A*ﬂ
—2m - 3m '
Ans 1. 3KN (Negative)
X 2. 6kN (Negative)
X 3. 3kN (Positive)
X 4. 9kN (Positive)
Question Type : MCQ
Question ID : 387868561
Option 1 ID : 3878682194
Option 2 1D : 3878682195
Option 31D : 3878682193
Option 41D : 3878682196
Status : Answered
Chosen Option : 2




Q.80 What is the effective length of a steel compression member of actual length L which is effectively held in position at

both ends but NOT restrained against rotation?

Ans 1 1.OOL

X2 200L
<3 080L
X4 1.20L
Question Type : MCQ
Question ID : 387868593
Option 1 ID : 3878682322
Option 2 ID : 3878682324
Option 3 ID : 3878682321
Option 4 ID : 3878682323
Status : Answered
Chosen Option: 2
Q.81 The artificial activity which indicates that an activity following it, cannot be started unless the preceding activity is
complete, is known as:
Ans X 1. constant
X 2. free float
X 3. event
« 4 dummy
Question Type : MCQ
Question ID : 387868584
Option 1 ID : 3878682288
Option 2 ID : 3878682285
Option 3 ID : 3878682286
Option 4 ID : 3878682287
Status : Answered
Chosen Option : 4
Q.82 Which of the following is NOT a characteristic of a couple in engineering mechanics?
Ans o 1.
The algebraic sum of the moments of the forces, constituting the couple, about any point is the same, and equal to the
resultant of the couple itself.
x 2.
The algebraic sum of the forces, constituting the couple is zero.
X 3.
Any munber of coplanar couples can be reduced to a single couple, whose magnitude will be equal to the algebraic sum
of the moments of all the couples.
X 4
A couple cannot be balanced by a single force but it can be balanced only by a couple of opposite sense.
Question Type : MCQ
Question ID : 387868612
Option 11D : 3878682398
Option 2 ID : 3878682397
Option 3 ID : 3878682400
Option 4 ID : 3878682399
Status : Answered
Chosen Option: 3




Q.83 According to IS456-2000, the basic values of span to effective depth ratios for simply supported RCC beam spans up to
10mis:

Ans X1, 34
« 2 20
<37
x4 26

Question Type : MCQ
Question ID : 387868594
Option 11D : 3878682328
Option 2 ID : 3878682326
Option 3 ID : 3878682325
Option 4 ID : 3878682327

Status : Answered

Chosen Option : 2

Q.84 The apparatus for conducting the slump test essentially consists of a metallic mould in the form of a frustum of a cone
having the internal dimensions as:

Ans X 1.
Bottom diameter : 20 cm; Top diameter : 30 em; Height : 50 cm

X2
Bottom diameter : 10 cm; Top diameter : 20 cm; Height : 15 cm

X3
Bottom diameter : 15 cm; Top diameter : 20 cm; Height : 30 cm

4
Bottom diameter : 20 cm; Top diameter : 10 cm; Height : 30 cm

Question Type : MCQ
Question ID : 387868567
Option 1 ID : 3878682220
Option 2 ID : 3878682217
Option 3 1D : 3878682218
Option 4 ID : 3878682219
Status : Answered
Chosen Option : 4




Q85 gelect the INCORRECT statement from the following.

Ans

2.

X 1. The beginning and end of a job are called events.

The activity which consumes the maximum time, is called a node.

x 3.

Logically and sequentially connected activities and events form a network.

X 4. The activity is the time consuming part of a project.

Question Type :
: 387868585

: 3878682291
: 3878682289
Option 31D :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

McQ

3878682292

: 3878682290

Status : Answered
Chosen Option : 2

Q.86 The chainage of the intersection point of two straights is 1060 m. and the angle of intersection is 120°. If the radius of a

circular curve to be set out is 570 m, and the peg interval is 30 m, determine the tangent length.

Ans  X1.330.19m

<2 325.09m
<3 22009 m
4 329.09 m
Question Type : MCQ
Question ID : 387868560
Option 11D : 3878682190
Option 2 ID : 3878682191
Option 31D : 3878682192
Option 4 ID : 3878682189
Status : Answered
Chosen Option : 4
Q.87 The normal stress and shear stress on a failure plane in a drained test on cohesionless soil are 100 kN/m? and 50kN/m?.
The angle of shearing resistance is 20°. What is the angle that the failure plane makes with the major principal plane?
Ans o 1. 550
X2 250
X3 350
X 4. 65°
Question Type : MCQ
Question ID : 387868572
Option 11D : 3878682238
Option 2 ID : 3878682239
Option 3 ID : 3878682237
Option 4 ID : 3878682240
Status : Answered
Chosen Option: 1




Q.88  The cost of construction of an underground water tank of capacity 100 m’ is 5 ,00.000. Find the unit rate/litre. Also,

Ans

find the approximate cost of a similar water tank in the same area to store 2.50,000 litres.

x 1.

Unit rate per litre is ¥2.5 and the approximate cost for 250000 litres is 2100,000.

x 2

Unit rate per litre is 8 and the approximate cost for 250000 litres is ¥1,45,000.

x 3.

Unit rate per litre is 3.5 and the approximate cost for 250000 litres is Z1,20,000.

o 4

Unit rate per litre is 5 and the approximate cost for 250000 litres is ¥1,25,000.

Question Type : MCQ
Question ID : 387868601
Option 1 1D : 3878682353
Option 2 ID : 3878682356
Option 3 ID : 3878682354
Option 4 ID : 3878682355
Status : Answered
Chosen Option : 1
Q.89 Which of the following approaches creates perseverance to learn, know practice and strive toward a high level of safety
at the job site?
Ans X 1. Physical approach
X 2. Organisational approach
+ 3. Economic incentives
X 4. Behavioural approach
Question Type : MCQ
Question ID : 387868586
Option 1 ID : 3878682295
Option 2 ID : 3878682293
Option 3 ID : 3878682296
Option 4 ID : 3878682294
Status : Answered
Chosen Option : 4
Q.90 Which of the following apparatus should be used for the determination of the soundness of cement in the laboratory?
Ans X 1. Blaine’s apparatus
X 2. Slump cone
+ 3. Le Chatelier's apparatus
X 4. Vicat’s apparatus
Question Type : MCQ
Question ID : 387868566
Option 11D : 3878682214
Option 2 ID : 3878682216
Option 3 1D : 3878682215
Option 4 ID : 3878682213
Status : Answered

Chosen Option : 3




Q.91 Find the moment of inertia of a triangle shown in the figure about its centroidal axis XX.

I

lm
o l
& 3m >
Ans
X1 65m*
X2 amt
v 3 0.67m*
X4 gmt
Question Type : MCQ
Question ID : 387868562
Option 1 1D : 3878682200
Option 2 ID : 3878682198
Option 3 ID : 3878682197
Option 4 ID : 3878682199
Status : Answered
Chosen Option : 3
Q.92 Calculate the loss of head at entrance if pipe of 30 mm diameter is conveying water with a velocity of 2.5 ny's.
Ans 1. 0.159m
<2 0258m
<3 0.198 m
<4 0480 m
Question Type : MCQ
Question ID : 387868576
Option 1 ID : 3878682254
Option 2 ID : 3878682253
Option 3 ID : 3878682255
Option 4 ID : 3878682256
Status : Answered
Chosen Option : 4




static indeterminacy?

Ans X1 4

(I |

Q.93 A continuous beam with one end fixed and another end with overhanging is shown in the figure. What is the degree of

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
387868582
3878682279
3878682277
3878682280
3878682278
Answered

1

Q94 WWater hammering is defined as:

Ans X 1. sudden rise of vibration in the pipe
+ 2. sudden rise of pressure in the pipe
# 3. sudden rise of noise in the pipe

# 4. sudden entry of air in the pipe

Question Type : MCQ
Question ID : 387868577
Option 11D : 3878682257
Option 2 ID : 3878682258
Option 3 ID : 3878682260
Option 4 ID : 3878682259

Status : Answered
Chosen Option : 2

Ans % 1. parabolically

X 2. elliptically
« 3. linearly

X 4. harmonically

Q.95 1p the theory of simple bending, the bending stress in the beam section varies:

Question Type : MCQ
Question ID : 387868563
Option 1 ID : 3878682202
Option 2 ID : 3878682203
Option 31D : 3878682201
Option 4 ID : 3878682204

Status : Answered

Chosen Option: 1




Q.96 Which of the following artificial light aggregates is used to produce lightweight concrete?

Ans

2 1. Rice husk

X 2. Pumice

X 3. Saw dust

« 4. Sintered fly ash

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868569
3878682226
3878682225
3878682228
3878682227
Answered

2

Q97 The forces generated in a “Tripod carrying a camera’ is an example of:

Ans

# 1. coplanar concurrent force system
« 2. non-coplanar concurrent force system
X 3. non-concurrent non-coplanar force system

X 4. coplanar non-concurrent force system

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868609
3878682385
3878682388
3878682387
3878682386
Answered

1

Q.98 The departure and latitude of a forward point with respect to the preceding point is known as the:

Ans

X 1. reference coordinates
+ 2. consecutive coordinates
X 3. meridian

X 4. quadrant

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

McQ
387868558
3878682182
3878682181
3878682183
3878682184
Answered

Chosen Option : 4




Q.99 Which of the following is NOT a hydration component of Ordinary Portland Cement?

Ans

X 1. Monosulphate

¥ 2. Alite

X 3. Ettringite

X 4. Calcium hydroxide

Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

Chosen Option :

MCQ
387868565
3878682211
3878682209
3878682210
3878682212
Answered

3

Q.100 The disposal of municipal solid waste by cutting, tearing, crushing and grinding is called:

Ans

+ 1. shredding and pulverisation
X 2. composting and barging into sea
X 3. incineration and thermal pyrolysis

X 4. sanitary land filling

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

: Answered

Chosen Option :

McQ
387868607
3878682380
3878682378
3878682379
3878682377

1




